O A H=H

XIATHOHAH S M X XIS =AM E

CYHHs - 01

289,850 478,900

© s

toE3

Hem

291,250 478,900

westg

289,850 477,300

v g

291,250 477,300

50 100 3
Al O] =
A4TA AdaA | z0z0i00 | == =
ZANE ZANE A12024-000%
TeUHOR TN AT ‘ ‘
4% 2 2R
[EXEs 23 A

onli | 4
oifod (B

# 3l gl




EX| =M

[y = | = -
z 2387 AL |
_E_
Z X ™ Z(nd) 2 A M X (nd) X ™ X (nd)
A 56 60,848 28,421 47 32,427
=1 15 8,288 724 14 7,564
CH 13 6,396 330 12 6,066
= 5 2,885 2,869 1 16
= 3 2,070 - 3 2,070
= 5 4,128 - 5 4,128
™ 13 12,642 59 12 12,583
S| 2 24,439 24,439 - -




L=l

g7y PSESTES
X7 | ot )
g o
MEX| LH=O | StAtcHE| 225,580
Ee | shatoiel 5,964
FEL QPO 582
L= | siAkcyzE| = 3,564
LHEM | S| = 2,480
FEL QPO = | 152
LHED | slArCHE 2,954
FELREPC 330
FELREPC 455,398




LARR X

S PO . R e L LS
s o g (xf) (xf)
YEX| 1| LHED | 2F0ig] | 1040 = 43 43
2 | L{EH | ohddig] | 973 CH 990 959
3 | WHEH | skdiigf | 973-2 2] 1,300 702
4 | uze | staoel | 10971 o 247 55
5 | uzEe sydal | 09T o | 1320 408
6 | LHEH | 2pyCi2] | 983 CH 783 105
7 | WEH | izl | 1072 Ch 498 498
8 | LHED | St Oi2| | 1069-1 2 1,445 393
9 | WEH | ShdCiZ| | 1063-2 al 1,412 554
10 | LHEE | 2F&Ci2] | 1063-1 Al 1,412 740
11 | LHEE | 2k&0i2] | 1040-1 = 41 41
12 | HES | 2F0i2l | 1039 = 770 143
13 | Uz | staoe | 1097 o 7 | 58
14 | HEE | tOi2| | 1060-2 M 5,812 1,375
15 | HEH | 2FSCH2| | 1046-2 = 1,983 1,229
16 | LHEE | 2taCi2] | 1055-1 M 2,615 2,211
17 | HES | 2k0i2l | 978 = 1,653 294
18 | LHEE | ka2 | 1052 Al 1,531 1,513
19 | LHEE | totiz] | 1042 = 1,980 743
20 | WEH | 2kdoizl | 1053 Al 1,028 170
21 | LHEDH | shdoig] | 1071-2 Al 3,838 1,218
22 | LHEDH | ghaoig| | 1071-1 Al 314 292
23 | LHEDH | gaoig] | 1041 Al 1,812 499
24 | LHEDH | stttz | 974-2 CH 1,550 862




R .
7 | ol x| xjm || HERE
= 5| a () (x)
WEX| | 25 | WiE=m | stacHE] | 1046-1 | 2,006 | 1,362
26 | LIED | spACiE] | 1044-1 | ©F 1,319 1,260
27 | UE™ | saciel | 1045 | ® | 1,410 628
28 | LH=M | statcHz] 1043 X 3,630 1,316
29 | LH=M | StAtcHE| A236 ol 44,628 2,346
30 | LWEW | sACE| | 975-1 i 2,167 270
31 | LHEM | Ftaich2] 974-1 CH 139 65
32 LHE=0 | shatchz] 973-1 CH 2,305 633
33 | W=D | slAfCHE| | AR63-20 | 2 1,607 632
34 | =M | sHACHE| 983-1 = 362 181
35 LH=0 | shatchz] 983-2 =1 518 477
36 | LH=e | sfabchal | 1056-1 | & | 1,134 252
37 | W=m | slacie| | 977 = 797 59
38 | LH=M | SHAtoHeE| 977-2 =t 1,624 852
39 LH=O | statchza] 1072-1 ~ 1,251 843
40 | =S | siACHE & 0869'1 = 143 16
41 LH=M | StAchHe] | 1069-29 CH 551 337
42 | W=D | siamiE| | ARE1-3 | = 4,840 698
43 | Ew | slalciE] | AR61-2 | = 4,721 1,335
A4 | W=D | sACHE| | ARBI-1 | = 8,590 37
45 | W=09 | sACHE| | 1069-2 | o 087 435
46 | LH=H | satchE| 1069-3 CH 2,220 966
47 LH=M | statcHZ| 1055-6 X 6,911 1,852




